



**Revelry Event Designers** 3604 Medford St. Los Angeles, CA 90063 (323) 263-1657

11/26/2023 06:00 AM | Install Day 1 11/27/2023 09:00 AM | Install Day 2 11/28/2023 09:00 AM | Event Date 11/28/2023 11:00 PM | Strike Bedeken 11/28/2023 11:58 PM | Strike Reception (hall b) 11/29/2023 09:00 AM | Strike Ceremony PO: Shipping Address: Pasadena Convention Center 300 E Green St, Pasadena, CA 91101 Invoice Date: Due Date: Upon Receipt

**Ozzy Smith** 

Salesperson: Milana Ayvazova

Loading Dock 128 S. Marengo Ave

Description		Qtty	Price		Total
Ceremony - Out	door Area of Dena Hotel				
	Custom Cladding For Truss Arch (12" box truss) 12'W x 8'D x 12'H (8 total pieces) arches and painted in ivory	1	\$9,200.00	Т	\$9,200.00
	Truss Covers: Black Scuba Lycra 10- 15'H x 12"	1	\$1,700.00	Т	\$1,700.00
	Panels - Hedge Panel 4'x10' placed on top of each other to create a 24'W x 15'H backdrop, make sure all hedge is the same color finish 4'X10'H	6	\$250.00	Т	\$1,500.00
	Panels - Hedge Panel 5'x8' placed on top of each other to create a 24'W x 15'H backdrop, make sure all hedge is the same color finish 5' x 8'	3	\$250.00	Т	\$750.00
	Roll Of Green Lycra For Returns + Back Of Hedges	1	\$150.00	Т	\$150.00
	Total Ceremon	y - Outdoor	Area of Dena He	otel	\$13,300.00
Bedeken					
	Stock Draping - Off White Gauze With Backing 120' x 14'H, 2-60'W x 10'H	1	\$4,000.00	Т	\$4,000.00
	Valance In Stock - 240' off white	1	\$0.00	Т	\$0.00
	Garden Sofas - Shakespeare Garden - Ivory black with ivory cushion 79"W x 33"L x 31âll 🛛 H	1	\$500.00	Т	\$500.00
	Garden Club & Lounge Chairs - Shakespeare Garden - Ivory & Metal black with ivory cushion 24"W x 28"L x 36âll 🛚 H	4	\$250.00	Т	\$1,000.00
P	Sofas - Beirut - Curvy Ivory Velvet 102"W x 32"D x 26"H	4	\$550.00	Т	\$2,200.00
B	Club & Lounge Chairs - Beirut - Ivory Velvet 30"W x 32"D x 27"H	8	\$300.00	Т	\$2,400.00

Description		Qtty	Price		Total
	Coffee Tables - Bruges - Multi Color painted olive green 60"W x 26"D x 12"H	4	\$300.00	Т	\$1,200.00
8	Ottomans - Beirut - Ivory Velvet 20"D x 16"H	12	\$90.00	Т	\$1,080.00
	Accent Pillows - Stock Only small pillows - olive and off white velvet	20	\$35.00	Т	\$700.00
	Bars - Montecito - White Folding Wood 8' painted olive green 8'W x 2'5"L x 3'3"H - Color Upon Request	4	\$750.00	Т	\$3,000.00
	Barback - Tokyo - Straight Basic 6' - Metal painted olive green 6'W x 18"L x 8'6"H - Frame Color Upon Request	4	\$300.00	Т	\$1,200.00
	Dining Chairs - Aspen - White Wash W/ Oatmeal Linen placed with round tables / linens 18"X 21" X 32"H	48	\$25.00	Т	\$1,200.00
M	Garden Bistro & Stand Up Tables - Descanso Gardens - Bistro painted black 42"Diam x 29 1/2"H - Frame Color Upon Request	4	\$200.00	Т	\$800.00
	Garden Dining Chair - Descanso Gardens - Chair painted black with off white cushion 23"L x 20"W x 37"H - Frame & Cushion Color Upon Request	24	\$55.00	Т	\$1,320.00
			Total Bedek	ken	\$20,600.00
Entrance - PCC	Pleated Draping 30'W x 22'H Off White sheer chiffon with backing, sandbags, pipe & base	1	\$950.00	Т	\$950.00
			Total Entrance - PCC		\$950.00
Reception					
	Entrance Drape From Outside Into Room 260' x 16'H - either ivory stretch or beige velvet	1	\$0.00	Т	\$0.00
	Perimeter Drape: Green Velvet 18'H apoprox 1,300' of draping, steamed, flameproofed, extra pipe and base and extra sandbags to secure, NO VALANCE	1	\$17,813.00	Т	\$17,813.00
	Custom Truss Covers: Olive Green Velvet For Arches approx dimensions 13' x 12" (60 pieces), cross bar	1	\$3,800.00	Т	\$3,800.00
	Custom Truss Covers: Olive Green Velvet For Stage Backdrop 60'W x 12"H	1	\$1,200.00	Т	\$1,200.00
	Custom Truss Covers: For 530' of rigged truss	1	\$5,500.00	т	\$5,500.00

Description		Qtty	Price		Total
	Stock Mechitza Draping - Approx 260' x 10'H apple green velvet	1	\$4,400.00	Т	\$4,400.00
	Valance - In Apple Green For Mechitza <sup>240'</sup>	1	\$500.00	Т	\$500.00
	Custom Mechitza Wall Panels - 8'W x 10"H Arches 5 arches on each side (10 total), painted with custom wall paper (vinyl) print in the arch,	10	\$2,100.00	Т	\$21,000.00
	Custom Shield Covers - olive green lycra 9.5" wide by 22" long. The opening for the cover is across the 9.5" side	1	\$920.00	Т	\$920.00
	Sconce For Mechitza Walls style TBD	20	\$200.00	Т	\$4,000.00
	Chandeliers - Versailles - 3 Tears Basket Medium for mens arches 53"W x 63"H - Weight 106 Lb - 1,175 Watts	8	\$1,200.00	Т	\$9,600.00
	Chandeliers - Versailles - 2 Tears Basket Medium For women's arches 53"W x 57"H - 100 lb - 1,2275 watts	10	\$1,200.00	т	\$12,000.00
	Chandeliers - Versailles - 2 Tears Basket Large used for truss on stage backdrop, 80"W x 80"H - Weight 185 Lb - 2,650 Watts	3	\$1,500.00	Т	\$4,500.00
	Chandeliers - Versailles - 3 Tears Basket Large used for truss on stage backdrop, 80"W x 80"H - 190 Lb - 2,950 Watts	2	\$1,500.00	т	\$3,000.00
a ba	Chandeliers - Versailles - 2 Tears Basket Small 44"W x 47"H - 70 Lb - 1,025 watts	6	\$900.00	Т	\$5,400.00
	Chandeliers - Versailles- 3 Tear Basket Small 2 for mens side, 44"W x 53"H - Weight 80 Lb - 950 watts	8	\$900.00	Т	\$7,200.00
	Bars - New York - Folding 8' painted with wall paper vinyl front, 8'W x 30"L x 42"H - Color Change Upon Request	8	\$1,100.00	T	\$8,800.00
	Barback - Tokyo - Straight Basic 8' - Metal painted gold 8'W x 18"L x 8'3"H - Frame Color Upon Request	8	\$300.00	Т	\$2,400.00
			Total Recept	ion	\$112,033.00
Room For Dad					
	Wall Mirrors - Nice - Wall Mirror 03 30"W x 70"H	1	\$200.00	Т	\$200.00

Description		Qtty	Price		Total
	Sofas - Pasadena - Ivory Velvet 8'W x 34"L x 28"H	1	\$500.00	Т	\$500.00
P	Club & Lounge Chairs - Pasadena - Ivory Velvet 3'W x 3'L x 29"H	4	\$280.00	Т	\$1,120.00
	Coffee Tables - Athens - Cut Out Round Large - Taupe 43 1/4"D x 13"H	1	\$275.00	Т	\$275.00
			Total Room For I	Dad	\$2,095.00
General					
	wood	1	\$0.00	Т	\$0.00
	Exit Signs - GREEN	20	\$0.00	Т	\$0.00
	EXTRA Sandbags + Rope to secure draping	1	\$0.00	Т	\$0.00
	Roll of Olive velvet draping	1	\$0.00	Т	\$0.00
	Roll of Green Lycra	1	\$0.00	Т	\$0.00
	Roll of off white lycra	1	\$0.00	Т	\$0.00
	Roll of Black Lycra	1	\$0.00	Т	\$0.00
	Short Pipe & Base For tech booth	1	\$0.00	Т	\$0.00
			Total General		\$0.00
Services					
	Install Day 1	18	\$650.00		\$11,700.00
	Install Day 2:	14	\$650.00		\$9,100.00
	Install Day 3 + Touchups	6	\$500.00		\$3,000.00
	Strike - Overnight	18	\$650.00		\$11,700.00
	Strike - Monday	2	\$650.00		\$1,300.00
	Truck + Gas Surcharge	10	\$480.00		\$4,800.00
	Flameproof Certification + New Fabric Fee	1	\$3,000.00		\$3,000.00
	Production Labor: Wall Paper Application	1	\$1,800.00		\$1,800.00
	Design & Manager Fees: Diagrams, Graphics, design, on site management, production, etc	1	\$3,500.00		\$3,500.00

Please make checks payable to Revelry, Inc.	Total Products:
Note: Prior to deliveries and pick-ups all invoices must be pay in full	Total Labor/Services/Misc:
Please ready the contract and sign it	Wear & Tear (5.00%):

\$148,978.00 \$49,900.00 \$7,448.90

Packing (3.00%):	\$4,469.34
Taxes :	\$13,619.20
Discounts:	(\$5,618.00)
Total:	\$218,797.44
Payments:	(\$103,729.13)
Balance:	\$115,068.31